
SOA Exam MFE

Flashcards

Johnny Li, Ph.D., FSA

Learning & Memorizing Key Topics and Formulas

Spring 2017 Edition

ACTEX Learning 



Copyright © 2017, ACTEX Learning, a division of SRBooks Inc.

No portion may be reproduced or transmitted
in any part or by any means
without the permission of the publisher.

ISBN 978-1-62542-927-8

Printed in the United States of America.



ACTEX is committed to making continuous improvements to our study 
material.  We thus invite you to provide us with a critique of these flashcards.  
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In preparing for my exam I found this material:  (Check one)
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________________________________________________________
________________________________________________________
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   ACTEX Learning
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  New Hartford, CT 06057

Or visit our website at www.ActexMadRiver.com to complete the survey 
on-line.  Click on the “Send Us Feedback” link to access the online version.  

You can also e-mail your comments to Support@ActexMadRiver.com.



Module 1 − 1 

Profit of a Position 
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Module 1 − 2 

Profit (of net payoff) of a position is computed as follows: 
 

 Value of the final position at T 
 

 + accumulated value of any income received in (0, T) 
 

 − accumulated cost to set up the position at time 0. 
 

(Section 1.1.2) 
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Module 1 − 3 

Payoffs of K-strike T-year European Calls and Puts 
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Module 1 − 4 

Call: (ST − K)+ = max(ST − K, 0) 
 

Put: (K − ST)+ = max(K − ST, 0) 

(Section 1.1.3) 
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Module 1 − 5 

Forward and Prepaid Forward Prices 
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Module 1 − 6 

 

Type of Dividend Prepaid 
Forward Price Forward Price 

None St St er(T – t) 
Discrete St – PVt,T (Div) St er(T – t)

 – FVt,T (Div) 
Continuous St e–δ(T – t) St e(r–δ)

 
(T – t) 

 
 

(Section 1.2) 
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Module 1 − 7 

Put-Call Parity 
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Module 1 − 8 

c(S0, K, T) – p(S0, K, T) = rTP
T KeSF −−)(,0 = e–rT[F0,T(S) – K] 

 
 

(Section 1.3.1) 
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Module 1 − 9 

Caps and Floors 
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Module 1 − 10 

Cap = short stock + long call, 
 

Floor = long stock + long put 
 

(Section 1.3.2) 
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Module 1 − 11 

Covered Call and Covered Put 
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Module 1 − 12 

Covered call = short call + long stock, 
 

Covered put = short put + short stock 
 

(Section 1.3.2) 
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Module 1 − 13 

Spreads, Butterfly Spreads and Box Spread 
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Module 1 − 14 

Spread: created by same type of options 

Suppose K1 < K2 < K3. Let 
13

23

KK
KK

−
−

=λ . 
 

Bull Spread Payoff does not decrease as stock price increases 
c(K1) − c(K2) or p(K1) − p(K2) 

Bear Spread Payoff does not increase as stock price increases 
c(K2) − c(K1) or p(K2) − p(K1) 

Butterfly 
Spread 

Long λ c(K1), short 1 c(K2), long (1 − λ) c(K3) 
or 

Long λ p(K1), short 1 p(K2), long (1 − λ) p(K3) 

Box Spread Constant payoff of K2 − K1 
c(K1) − c(K2) + p(K2) − p(K1) 

 
(Section 1.3.3) 
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Module 1 − 15 

Collar 
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Module 1 − 16 

Long collar = long p(K1) − c(K2) where K1 < K2 
 

A zero-cost collar is a collar with a zero initial cost.  
 

Collared stock = long stock + long collar 
 

(Section 1.3.3) 
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